SCLUTIONS FORSEC 3 EXPRESS 2023 F1 V2
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a|a-Gd+de)=a-3d-4da
= -3a-3d [Bl]

h Zam —12ak - 6dk +ddm
=Eam—12ak +4dm -o6dk

= dai2m-3i)+2d{2m -3k)  [WI1]
= A2a+dW2m-kr  [A1]

Preseneeof either one factorization
correctly.
Extracting coranon factor [IvI1]

Erromeons working but able to get the
final answer [I0AD]

xﬁS% or x> —f [either I iscorrect [IVI]]

Final : -6<x58§ [&1]

[ 2 5 making coruon denoraihator
-0 43 (et =Sie +3)
oo 2 it i with all correct working on nurne rator [Iv]
(c+3c -3 c+3
x 2 _ He=3)
(c+3ic -3 (c+3c-2) o
_ 2-5c+l5
(o +3e =3)
1T=35¢
=" [il
(o +3c=3) [&1]
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4 b 2x+?sb
J:Sab_?
3h-7 -
2
k=5 [B1]
a=-23 [B1]
3 2 9407 %2 =122210™ [Bl]
b 106107 2100=106=10"  [W1]
Difference = 1.2=107"  [&1]
6 |a | 30§=2" =3l [Bl] Eecept produsthut nat in inde x form
b |11 [Bl]
c | p=2g=1 [BEL,Bl]
T a |2 muts rep 32 bars
1 unit rep 16 bars
Connie has 16 3 5 = 80 [B1]
b | 1 uut= 16 bars Sogeard Ivll for presence of 64
therefore (5—wi=1 [Qil]
w=4  [&l]
¥ 354 5548, 25 a1 das Y] Atferm R ipdine e e (NI
50 20 50
to scomw at least 75%, the remaimder 18 32,3875 [Ivl]
32'38?5x 100=719722
Hence, she ghould score T2 marks [&1]
Q a |49 [B1]
b |12 [B1]
¢ nenteidn—1y [N01] Presence of n? or(4n—13 [IW1]
=n'+5n-1 [4l]
10 Container &  Container B Aeceptvolume ratio 15625 1000 [IvII]
25 -1
5 ] 2
125 . 8 frolume rato] [II1]
125
— [MI1] =15.625
Numher of containers B ngeded = 8
16 containers [Al]
11 [a

Length = f(2-35 +(3 - (L) [M11]
=41231 [Al]
=4.12
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. 3—(-1
gradient 53 =—4 [MI1]
Equation
y-3=—4(x-2)
y=—4x+11 [Al]

30-0

deceleration = =1mist [P1]

y=-4x+11 cutsthexaxis:y=0
0=—4x+11

11
T

X

coordinates :(%,O) [or equivalent] [B1]

Distance = %l{ﬁﬂ +2M(300=1200 [IWO]

& Speed =% =20 miz [A1]

(0,3)(0,=5)(5, 0)(5, ~0)(E3, H(F3, )3, +HE, F4)(=3, -4,
(+4,3), (F4,3),(4,13), (4, 73),(-4,-3)

[B1]
12 X —6x+4

=(x-3)" [Bl] -5 [Bl]

. Turning point =(3,-5)
Y intereept = 4
0| NS x
o i Pelicre Sar @0 Ond
labe !l fggthc 5 ‘ Fturitin ifiak {ely
N

13 6—2)x180

2apg =878 _ =

ZSBC =180—-48-48=84 Do not accept if candidates use 15 to

ZABC =360-120-84=156" [MIl] show

w=156 [M1] or n(180-156)=360 [M1]

n

1807—-360 =156n

24n =360

n=15 (shown) [Al]
14 30 v Or any appropriate method

10 8

v=24 m/s [BI]
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